THREE BRMNRESTHRERSE

HGETIME B/
1. FREEE
FHEEHR =L HM1T4E pidz=! 5%%8 FHBITHE
IMEE 452,000 105,408| -346,592 O|BBRSUTATHELE
Bk, BHEHM . EFH
HERE 5,402,800 6,684,535 1,282,588 853| M. AR HRE. RERLSE
DEFEM. FEESE

BRE 50,000 0 -50,000 o|7zL
FIRI& A2 97,000 0 -97,000 o|#L
EBiER (BMHE) 211,000 108,774| -102,226 O|BM B EIEESE
BEERE 113,000 114,890 1,890 O|UIFEEA. REXBES
FHH 100,000 114,222 14,222 O|ET7/aRE, FLTESEHE
FitH 85,000 143,880 58,880 O KRCHEESE

il T 7 KA _ RE AR —EY LI
FAHRVERER 228,900 218,785 10,115 Ol St (s F s
HHREE 1,393,500 783,898| -609,602 o1 &
HEE 365,000 330,217 -34,783 IEiE=
=Eiko 24,000 2,400 -21,600 OIS E
WER /MRS LE 694,547 613,666 -80,881 O|FmEA—rOv oS EEE
FEER IS F SR 30,000 25,920 -4,080 o[ vwirA—iARTESE
Bt/ NS fE 64,500 0 -64,500 of%L
EEREFEH 0 63,800 63,800 O|ABEET YOI RDNIT
&t 9.311,247] 9,310,395 853
2. FREBE
FHEEHR =L 1T%E = 7%%8 FHBITHRE
PARLE (CERHEB _ [
HIET) 52,000 41,729 10,271|B4T;H (BEER)
. ERNBYMEEANE
FEEHR REE ] $1TRE = %8 FHBITHE
BEMELE OB RIS 587,703 1,247,820 - -660,117|J BRI BMESE
HEEI 13,182,007 11,288,114 - 1,893,893 | E #E#R 1L
&t 13,769,710 12,535,934 - 1,233,776




4. BB %R R AL =

FEEZH [REEa 1T %% FLEHMITAR
HEMRE EERZ 2,769,576 2,769,576 O|REZI7aVETSE
T A& 375,840 375,840 Ot B =T aaM
5. ZEKTFE

FEER Bio 24%8 iT%8 %8 FHHTRE
—hEE 50,000 50,000 O|RFYKIHERSE
6. EEHEFE

FHEEHB Bio 24%8 178 %8 FHHTAR
JHAE M 10,000 10,000 O|EESE
7, NEREEBERHIVE LS EBEETE

FHEEHB Bio 24%8 1T %48 FHHTAE
FHRFEE 250,000 248,160 1,840| BARLANT Y RRA UM
8. BEHHERTE

FEEHB Bio 24%8 178 %48 FHHTAE
JHAE M 45,000 45,000 O|FXEBEBRSE
9 EEEBENR EHERTE

FEEZH [EEa 1748 %% FHHTAE
MEE 22,272 0 22,272]%L
JHAES 24,500 21,780 2,720 FB#EZ
10, BB EHEME

FEEHB Bio 24%8 1T %48 FHHTAE
BRESEHME 358,000 357,960 40| SRR
11, eBKE

FHEEHB 1748
BEX 2,710,453
AR 1,402,713
K& 3,019,825
KE(T—IL) 1,270,926




	決算報告書（周知）

